

DELIVERY DUE DATE:

Tel. No.: 045-606-8142/606-8157

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

Type of Business: Merchandising

TIN No.: <u>739-829-004-000</u> Tel. No.: (047) 222-8707

PR No.:

2020-10-205

PO No.: Date:

2021-047 2/3/2021

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:		TARLAC STATE UNIVERSITY	Delivery Term:		30 Calendar Days
Date of Deliv	ery:		Payment Term:		<u>N/30</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
1	set	OFFICE PC, Optiplex 3080 SFF XCTO, OptiPlex 3080 Small Form Factor with 200W up to 85% efficient Power Supply (80Plus Bronze), Trusted Platform Module (Discrete TPM Enabled), Intel® Core™ i3-10100, 6MB Cache, 4 Cores, 8 Threads, 3.6GHz to 4.3GHz, 65W, No Media Card Reader, Cyberlink Media Suite Essentials not included, no additional cable requested, not energy star qualified, no wireless driver, Document for MUI (English, Khemer, Bahasa Indonesia), Quick Setup Guide 3080 SFF, Shipping label, Shipping Material for SFF(APCC), Intel® Core™ i3 Processor Label, No Windows AutoPilot, 8GB, 2X4GB, DDR4 non-ECC Memory, No Optane, M.2 256GB PCIe NVMe Class 35 Solid State Drive, Additional 3.5inch 1TB 7200rpm Hard Disk Drive, M.2 22x30 Thermal pad, No Optical Disk Drive, System Power Cord (Philippines/TH/US), No Chassis intrusion switch, Regulatory Label for OptiPlex 3080 SFF, APCC, no UPC label, Not EPEAT Registered, Intel Integrated Graphics, No Additional add in cards, No PCIe add-in card, No Additional Video Ports, Speaker for Tower and SFF, No wireless LAN Card, No stand option, 3.5inch drive screw SFF, Dell MS116 Wired Mouse-Black, Dell Wired Keyboard KB216 Black (English), Windows 10 Pro (64bit) English, Windows 10 Pro OS Recovery Media 64bit - USB APJ, No Productivity Software, No Out-of-Band Systems Management, Dell Client System update (updates latest dell recommended BIOS, Drivers, Firmware and Apps), Waves Maxx Audio, Dell SupportAssist OS Recovery tool, Dell Digital Delivery Cirrus Client, SupportAssist, No anti-virus software, System Monitoring not selected in this configuration, custom configuration, 1Y Basic Onsite Service-ACDTS, 1Y ProSupport and Next Business Day Onsite Service-ACDTS Extension, Mod Specs Info (SADMG), Ex-Hub from Apcc Penang (DDD), Ex factory delivery info only, M2X3.5 Screw for SSD/DDPE, Dell 22 Monitor - E2220H, Kit-Power cord 2m, 125V (US) C13-S2240T Only, No warranty upgrade selected, MOD,	82	67,000.00	5,494,000.00
2	set	Info, Ex Factory, DLVRY, Ex-Hub from APCC Penang (DDD), APC BVX1200LI-MS 650 watts/ 1.2Kva, 2 years warranty BASIC LABORATORY PC, Optiplex 3080 SFF XCTO, OptiPlex 3080 Small Form Factor with 200W up to 85% efficient Power Supply	40	73,800.00	2,952,000.00
		Sub-Total			8,446,000.00

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

Very truly yours

DR. MYRNA Q. MALLARI

President

Authorized Official

XYMBOLICAT SOLUTION PROVIDER CORPORATION (Signature over printed name & date)

Bank Account Name:

XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Bank Account Number:

001420003840

Bank Name: Bank Address:

Unionbank

19B Manila Arc. Corner Dewey Are Canal Rb. Subic Bay theeport Zone Subic Branch - Lot

HEAD, Budget Office

ALOBS No.: 86 -10101 -21-52 -000

Amount:

Funds Available:

No.: TSU-PRO-SF-09

Revision No. 03



Tel. No.: 045-606-8142/ 606-8157

DELIVERY DUE DATE:

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

Type of Business: <u>Merchandising</u>

TIN No.: 739-829-004-000 Tel. No.: (047) 222-8707 PR No.: PO No.: 2020-10-205

Date:

2021-047 2/3/2021

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:		TARLAC STATE UNIVERSITY	Delivery 1 Payment		30 Calendar Days
tem No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded (80Plus Bronze), Trusted Platform Module (Discrete TPM Enabled), Intel® Core™ i5-10500, 12MB Cache, 6 Cores, 12 Threads, 3.1GHz to 4.5GHz, 65W, No Media Card Reader, Cyberlink Media Suite Essentials not included, no additional cable requested, not energy star qualified, no wireless driver, Document for MUI (English, Khemer, Bahasa Indonesia), Quick Setup Guide 3080 SFF, Shipping label, Shipping Material for SFF(APCC), No Windows AutoPilot, Intel® Core™ i5 Processor Label, 8GB, 2x4GB, DDR4 non-ECC Memory, No Optane, M.2 512GB PCIe NVMe Class 35 Solid State Drive, No Additional Hard Drive, M.2 22x30 Thermal pad, No Optical Disk Drive, System Power Cord (Philippines/TH/US), No Chassis intrusion switch, Regulatory Label for OptiPlex 3080 SFF, APCC, no UPC label, Not EPEAT Registered, NVIDIA GeForce GT 730, 2gb, LP (DP/DP), No Additional add in cards, No PCle add-in card, No Additional Video Ports, Speaker for Tower and SFF, No wireless LAN Card, No stand option, No Hard Drive Bracket, Dell Optiplex, Dell MS116 Wired Mouse-Black, Dell Wired Keyboard KB216 Black (English), Windows 10 Pro (64bit) English, Windows 10 Pro OS Recovery Media 64bit - USB APJ, No Productivity Software, No Out-of-Band Systems Management, Dell Client System update (updates latest dell recommended BIOS, Drivers, Firmware and Apps), Waves Maxx Audio, Dell SupportAssist OS Recovery tool, Dell Digital Delivery Cirrus Client, SupportAssist, No anti-virus software, System Monitoring not selected in this configuration, custom configuration, 1Y Basic Onsite Service-ACDTS, 1Y ProSupport and Next Business Day Onsite Service-ACDTS Upgrade, Y2-5 ProSupport and Next Business Day Onsite Service-ACDTS Upgrade, Y2-5 ProSupport and Next Business Day Onsite Service-ACDTS Extension, Mod Specs Info (SADMG), Ex-Hub from Apcc Penang (DDD), Ex factory delivery info only, M2X3.5 Screw for SSD/DDPE, Dell 22 Monitor - E2220H, Kit- Power cord 2m, 125V (US) C13-S2240T Only, No warranty upgrade selected, MOD, Info, Ex Factory, DLVRY, Ex- Hub from APCC			8,446,000.00
3	set	DESKTOP COMPUTER, for CAD Laboratory, Optiplex 5080 Tower XCTO, Trusted Platform Module (Discrete TPM Enabled), OptiPlex	50	102,700.00	5,135,000.00
		Sub-Total			13,581,000.0

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

RECEIVED

Very truly yours,

R. MYRNA Q. MALLAR

President

Authorized Official

Conforme:

XYMBOLIC IT SOLUTION PROVIDER CORPORATION

(Signature over printed name & date)

Bank Account Name: Xumbolic IT Jolution Provider

Bank Account Number: 0014 2000 3840

Bank Name:

Union bank

Bank Address: Subic Pranch - but 1913 Manila ave. Corner Dewey ave. Canal Rd. 13572-

Funds Available:

ELENA MAY DITEOFILO
HEAD, Budget Office

Amount: \$ 17.571

17571,100-1

ALOBS No.: 06-101101-21-02-0001

No.: TSU-PRO-SF-09

Revision No. 03

Effectivity Date: August 24, 2020

Page 2 of 9



n	FI	T	WE	DV	DHE	DATE:	
v	Li	J. E.	Y L	1/1	DUL	DAIE.	

Tel. No.: 045-606-8142/606-8157

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

739-829-004-000 TIN No.: Tel. No.:

Type of Business: Merchandising

(047) 222-8707

PR No .:

2020-10-205

PO No.:

2021-047 2/3/2021

Date: Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Deli	9	TARLAC STATE UNIVERSITY	Delivery '	Term:	30 Calendar Days	
Date of Deliv	very:		Payment	Term:	<u>N/30</u>	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost	
		Balance Forwarded 5080 Tower with D10 360W up to 92% efficient Power Supply (80Plus Platinum), Intel® Core™ i5-10400, 12MB Cache, 6 Cores, 12 Threads, 2.9GHz to 4.3GHz, 65W, No Media Card Reader, Cyberlink Media Suite Essentials not included, no additional cable requested, not energy star qualified, no wireless driver, Document for MUI (English, Khemer, Bahasa Indonesia), Quick Setup Guide 5080 Tower, Shipping label, Shipping Material for Tower (APCC), Intel® Core™ i5 Processor Label, No Windows AutoPilot, 16GB, 2x8GB, DDR4 non-ECC Memory, No Optane, M.2 512GB PCle NVMe Class 35 Solid State Drive, No Additional Hard Drive, No Optical Disk Drive, System Power Cord (Philippines/TH/US), Chassis intrusion switch-Tower, no UPC label, Not EPEAT Registered, Regulatory Label for OptiPlex 5080 Tower 360W, APCC, NVIDIA GeForce GTX 1660 Super, 6gb, (DP/HDMI/DVI- D), No Additional add in cards, No PCle add-in card, No Additional Video Ports, Speaker for Tower and SFF, No wireless LAN Card, No Hard Drive Bracket, Dell Optiplex, Dell MS116 Wired Mouse-Black, Dell Wired Keyboard KB216 Black (English), Windows 10 Pro (64bit) English, OS Windows media not included, No Productivity Software, No Out-of-Band Systems Management, Dell Client System update (updates latest dell recommended BIOS, Drivers, Firmware and Apps), Waves Maxx Audio, Dell SupportAssist OS Recovery tool, Dell Optimizer, Dell Digital Delivery Cirrus Client, SupportAssist, No anti- virus software, MD_MDS TAG Transfer Assistance- for Philippines CSG Only (per tag), System Monitoring not selected in this configuration, custom configuration, 3Y Basic Onsite Service-ACDTS, 3Y ProSupport and Next Business Day Onsite Service-ACDTS Upgrade, Y4-5 ProSupport and Next Business day Onsite Service-ACDTS Extension, Mod Specs Info (SADMG), Ex-Hub from Apcc Penang (DDD), Ex factory delivery info only, M2X3.5 Screw for SSD/DDPE, Dell 22 Monitor - E2220H, Kit- Power cord 2m, 125V (US) C13-S2240T Only, MOD, Info, Ex Factory, DLVRY, Ex-Hub from APCC Penang (DDD), APC BVX1200Li-			13,581,000.00	
4	рс	OFFICE LAPTOP , Dell Latitude 3510 CTO, Integrated Intel UHD for 10th Generation Intel Core i3-10110U, EPEAT 2018 Registered (Silver), 10th Generation Intel® Core™ i3-10110U (2 Core, 4M cache,	7	56,500.00	395,500.00	
		Sub-Total			13,976,500.00	

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Authorized (

Conforme:

XYMBOLIC IT SOLUTION PROVIDER CORPORATION

(Signature over printed name & date)

Bank Account Name:

20014

Bank Account Number: 4

Bank Name: Union bank Bank Address: Vobic

Funds Available:

manila ave. Corner, bewey ave.

ALOBS No.: OC -101101-21-02-001 Amount: \$ 17.571,200-

No.: TSU-PRO-SF-09

Effectivity Date: August 24, 2020



DELIVERY DUE DATE:

Tel. No.: 045-606-8142/ 606-8157

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

Type of Business: Merchandising TIN No.: <u>739-829-004-000</u> (047) 222-8707 Tel. No.:

Date:

2021-047 2/3/2021

<u>2020-10-205</u>

Mode of Procurement:

PR No.:

PO No.:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

m			Delivery T Payment		30 Calendar Days N/30
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded base 2.1GHz, up to 4.1GHz), ENERGY STAR Qualified, 15.6" HD (1366 x 768) Anti-Glare Non-Touch, Camera & Microphone, Non-Backlit Power Button with No Fingerprint Reader, 15.6" LCD Display back Cover WLAN, Latitude 3510 Bottom Door Included, System Shipment, Latitude 3510, Dell Client System update, Dell Digital Delivery Cirrus Client, No Windows AutoPilot, Document for MUI (English, Khemer, Bahasa Indonesia), Latitude 3510 Quick start guide, Info Configuration Only, APCC Info, Intel® Core™ i3 Processor Label, Ex factory delivery info Mod, 8GB, 1x8GB, DDR4 non-ECC, OS Media kit not Included, M.2 256GB PCIe NVMe Class 35 Solid State Drive, No resource USB media, 65 Watt AC adapter, Power Cord for 3-pin Adapter (US), 3 Cell 40Whr ExpressChargeTM Capable Battery, Dell Pro slim Backpack 15, PO1520P, fits most laptops up to 15", Regulatory label, FCC, Qualcomm® QCA61x4A 802.11ac Dual Band (2x2) Wireless Adapter, Bluetooth 5.0, DW1820 WLAN Drive, No mobile broadband card, HDD bracket, Dell Mobile Wireless Mouse MS3320W- Titan Gray, Non Backlit Keyboard, English, Windows 10 Pro 64bit English, No software, waves maxx audio, Dell Power Manager, Dell SupportAssist OS Recovery tool, Dell Optimizer, Additional software (Latitude 3510), SupportAssist, No anti-virus software, MD_MDS TAG Transfer Assistance - for Philippines CSG Only (per tag), Not selected in this configuration, Custom Configuration, 1Y Carry-in Service-ACDTS, 1Y ProSupport and Next Business Day Onsite Service- ACDTS Upgrade, Y2-3 ProSupport and Next Business Day			13,976,500.00
5	рс	Onsite Service- ACDTS Extension, Battery Carries 1 year warranty from invoice date, FGA NB1-OS-BTO Ex-hub from Penang (DDD) COMPUTER MONITOR, Dell 19 Monitor- E1920H, Kit- Power cord 2m, 125V (US) C13-S2240T Only, 3Y basic advanced Exchange service-VN, PH, BN, Y4-5 Basic advanced exchange service- VN, PH, BN Extension, Mod, Info, Ex factory, DLVRY, Ex-Hub from APCC Penang	5	5,900.00	29,500.00
6	рс	(DDD) COMPUTER MONITOR, for Software Development, DELL E2318H, Kit- Power cord 2m, 125V (US) C13-S2240T Only, Technical Support- VN, PH, BN, Limited Warranty: Yr1-3 Advanced exchange service- VN, PH, BN, 5yr Advanced exchange service- VN,PH, BN, yr4-5 Advanced	7	8,800.00	61,600.00
		Sub-Total			14,067,600.00

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

OMMISSION ON AUDITAT

DR. MYRNA Q. MALLARI

President

Very truly yours,

Authorized Official

Conforme:

XYMBOLIC IT SOLUTION PROVIDER CORPORATION

(Signature over printed name & date)

Bank Account Name: Bank Account Number:

XUMBOLIC IT courtion 0014 2000

Bank Name:

Unionbonk

Bank Address: Sobic Branch - Lot 1915 Manila ave corner. Dewey ave.

Funds Available:

No.: TSU-PRO-SF-09

HEAD, Budget Office

Effectivity Date: August 24, 2020

ALOBS No.: 06-101101-21-02-0001 Amount: \$ 17.571.100-

Page 4 of 9



Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

Type of Business: Merchandising

TIN No.: 739-829-004-000

Tel. No.: (047) 222-8707

DELIVERY DUE DATE:

PR No.:

2020-10-205

PO No.:

<u>2021-047</u> 2/3/2021

Date: Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:		TARLAC STATE UNIVERSITY	Delivery 7	Гегт:	30 Calendar Days
Date of Deli	very:		Payment		N/30
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded			14,067,600.00
		exchange service- VN, PH, BN, MOD, INFO, ex factory, DLVRY, EX-HUB from APCCC Penang (DDD)			
7	package	PROJECTOR, with Presenter Bundle, Epson EB-S41 SVGA 3LCD Projector, White and colour brightness at 3,300lm, SVGA resolution,	1	25,700.00	25,700.00
		High Contrast ratio of 15,000:1, Horizontal keystone slider, 10,000			
0	,	hours lamp life in eco-mode, Logitech R400 wireless presenter			
8	package	PROJECTOR, with Presenter Bundle & Tripod Whitescreen, Epson EB-S41 SVGA 3LCD Projector, White and colour brightness at 3,300lm,	8	37,900.00	303,200.00
		SVGA resolution, High Contrast ratio of 15,000:1, Horizontal keystone			
		slider, 10,000 hours lamp life in eco-mode, Logitech R400 wireless			
0	,	presenter, Tripod 70x70			
9	package	WIRELESS PORTABLE PROJECTOR, with Presenter Bundle, Epson EB-1785W wireless WXGA 3LCD projector, White light output 3,200	2	64,000.00	128,000.00
		lumens, colour colour light output 3,200 lumens, WXGA resolution,			
		Real-Time auto keystone correction, split-screen projection, Hassle-			
		free Presentation with USB 3-in-1 display feature and epson			
1.0		iprojection, logitech R400 wireless presenter			
10	рс	SHORT THROW INTERACTIVE PROJECTOR, Epson EB-1485Fi ULTRA-SHORT THROW INTERACTIVE PROJECTOR, White and colour	1	209,300.00	209,300.00
		brightness at 5,000 lumens, laser light source, 20,000 hours of			
		maintenance-free use, Dual screen seamless interactivity, wireless			
		projection and miracast, Finger touch interactive, Ultra-short throw 254cm (100") screen			
11	package	VIDEO CONFERENCING EQUIPMENT, Logitech Rally plus video	1	197,800.00	107.000.00
		conference system with 1 rally camera, 2 speaker basr, 2 mic pods,	1	197,800.00	197,800.00
1.2		remote			
12	рс	MULTIFUNCTION INKJET PRINTER, Monochrome, Epson M200 Mono All-in-one ink tank printer, High-Yield pigment ink bottles, Copy	8	10,100.00	80,800.00
		and print speed up to 34ppm (15ipm), Network connectivity, Epson			
		iprint, ADF and 2-line LCD screen, Warranty of 4 years of 50,000			
		pages, whichever comes first			
13	рс	SINGLE FUNCTION LASER PRINTER, Laserjet 107a single function	8	8,000.00	64,000.00
		Mono, New model, Print speed Black (ISO, A4): Up to 20ppm, First page out Black (A4, ready): As fast as 8.3 seconds, Duty Cycle:			
		Sub-Total			15,076,400.00

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

XYMBOLIC IT SOLUPION PROVIDER CORPORATION

(Signature over printed name & date)

Bank Account Name: <u>Xymbolic</u> IT solution provider Corporation Bank Account Number:

DD14 - 2000 - 3840

Bank Name:

Union bank

Bank Address: Sobic Branan - Lot 1913 manifolding. Comer, Dewey ave, Canal Rd. CBFZ.

Funds Available:

No.: TSU-PRO-SF-09

HEAD, Budget Office

ALOBS No.: 06-101101-21-02-0001

Amount:

\$ 17,571,180 -



Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE:

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

Type of Business: Merchandising TIN No.: <u>739-829-004-000</u> Tel. No.: (047) 222-8707

PR No.:

2020-10-205

PO No.: Date:

2021-047 2/3/2021

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:		TARLAC STATE UNIVERSITY			30 Calendar Days
Date of Deliv			Payment	Term:	N/30
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
14	рс	(Monthly, A4) Up to 10,000 pages; Recommended monthly page volume: 100 to 1,500, Number of user: 1-5 Users, Print Quality Black (best): Up to 1200 x 1200 dpi, Connectivity (standard): Hi-Speed USB 2.0 port, Memory: 64MB, Maximum input capacity (Sheets): Up to 150 sheets, Finished output handling: Sheetfed, Media Sizes Supported: A4; A5; A5(LEF); B5 (JIS); Oficio; Envelope (DL, C5); 76x127 to 216x356mm, Media sizes Custom 76x127 to 216x356mm, HP 105A Black original laser toner cartridge, With HP-carepack 3 years warranty MULTIFUNCTION LASER PRINTER, G3Q47A HP Laserjet Pro m203dw Printer, DUPLEX PRINTING Automatic (standard), PRINT SPEED BLACK: Normal: Up to 28 ppm, Dupleex (A4): up to 18ipm, FIRST PAGE OUT (A4, READY) Black: As fast as 6.7 sec, PRINT QUALITY BLACK (BEST): Up to 1200 x 1200 dpi, HP auto-on/Auto-off technology, Printer smart software: HP ePrint, Apple Print, Mopriacertified, Instant-on Technology, HP auto-on/Auto-off technology, HP universal print driver and HP web jetadmin supported, Mobile printing capability: HP ePrint, Wifi Direct printing, AirPrint1.5 with media presence sensor; Google Cloud Print™ 2.0; Std connectivity: 1 Hi-Speed USB 2.0; 1 Ethernet 10/100 network, Wireless, Memory: 256MB, Standard media sizes (Duplex, Imperial): Letter, Legal, Executive, Processor speed: 750 MHz; Duty cycle (monthly) A4: Up to 15,000 pages; Recommended monthly page volume: 250 to 2,500 pages; Paper handling: Input- 250-sheet input tray, 10-sheet priority tray; Security management: Password-protected network embedded Web server; enable/ disable Network ports; SNMPv1 community password change; Cable included: Yes, 1 USB, TONER: HP 30A Original Black LaserJet Toner Cartridge CF230A (~1600 pages), HP 30X	3	17,300.00	15,076,400.00 51,900.00
15	рс	Original Black LaserJet Toner Cartridge CF230X (~3500 pages), with HP carepack 3 years Warranty COLORED INK TANK PRINTER, with ADF, Epson L6170 Wi-Fi duplex All-in-one ink tank printer with ADF, Compact integrated tank design, Print speeds up to 15ipm for black and 8.0ipm for colour, Auto-duplex printing, ADF capability, Ethernet & Wi-Fi Direct, Borderless Printing up to A4 size, Spill-free ink refilling, Warranty of 2 years or 50,000 Sub-Total	4	17,400.00	69,600.00

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

DR. MYRNA Q. N

Authorized O

Conforme:

XYMBOLIC IT SOLUTION PROVIDER CORPORATION

(Signature over printed name & date)

Bank Account Name:

solution Provider

Bank Account Number: 0014 -2000 -

Bank Name:

Unionbank

Bank Address: Sobic Lot PB manifor ave corner, belong ave. Comal Rd. SOFZ.

Funds Available:

No.: TSU-PRO-SF-09

ALOBS No.: 06-10/101-21-02-000)

Amount:

\$ 17,571,100-

HEAD, Budget Office Revision No. 03



Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE:

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

Type of Business: Merchandising

TIN No.: <u>739-829-004-000</u> Tel. No.: (047) 222-8707

PR No.:

Date:

2020-10-205

PO No.:

2021-047 2/3/2021

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:		TARLAC STATE UNIVERSITY	Delivery Term:		30 Calendar Days
Date of Delivery:			Payment		N/30
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded			15,197,900.00
		pages, whichever comes first			
16	рс	COLORED MULTIFUNCTION INKJET PRINTER, A3 Wifi Duplex, Epson EcoTank L15150 A3 Wi-Fi duplex all-in-one tank printer, Print speed of up to 25.0ipm, Prints up to A3+ (for simplex), Automatic duplex printing, Ultra-high page yield of 7,500 pages (black) and 6,000 pages (colour), Wi-Fi, Wi-Fi Direct, Ethernet, Epson Connect (Epson iPrint, Epson Email Print and Remote Print Driver, Scan to Cloud)	1	48,900.00	48,900.00
17	рс	INK TANK PRINTER, A3+, Epson L1800 A3 photo ink tank printer, Yield of up to 1,500 4R photos, Print speed up to 15ppm, High-yield ink bottles, 1 year warranty or 9,000 prints	1	28,200.00	28,200.00
18	рс	HIGH SPEED SCANNER, Epson WorkForce DS-410 A4 Duplex Sheet-fed Document scanner, Duty cycle up to 3,000 pages per day, Scan speed up to 26ppm/52ipm (300dpi), One-pass duplex scanning, Document Capture Pro Software, Scan 50gsm to 209gsm	1	21,400.00	21,400.00
19	рс	EXTERNAL HARD DRIVE, Portable, Seagate STHN1000401 1tb Back up Plus 2.5 USB 3.0	29	3,400.00	98,600.00
20	рс	SOLID STATE DRIVE, Samsung MZ-76E500BW 860 500gb Evo Series Solid State	8	4,600.00	36,800.00
21	рс	WEB CAMERA, Logitech C270 plug and play HD 720p video calling	17	1,400.00	23,800.00
22	рс	HEADPHONE, With mic, Plantronics Audio 628 w/ mic USB Headset	7	1,900.00	13,300.00
23	рс	RECHARGEABLE MOUSE, for Apple Laptops, Apple Magic Mouse 2	2	5,300.00	10,600.00
24	рс	HDMI CABLE, Data cable HDMI cable 5 Meters	16	900.00	14,400.00
25	рс	GIGABIT SWITCH, DLINK DGS-1008P/E 8-port Gigabit Desktop switch wit 4 PoE Ports, 8x Gigabit Ethernet ports (port 1-4 supports 802.3 at PoE+), 8002.3az Energy Efficient Ethernet (EEE) PoE Power Budget: 68W, Metal Housing, D-link Green power saving features	10	4,600.00	46,000.00
26	рс	GIGABIT SWITCH, DGS-1016C 16-port gigabit ethernet unmanaged switch, 16x Gigabit Ethernet Ports, Small lightweight, rackmount able and ideal for any business with big needs and a small budget. Rackmount kit supplied	10	3,000.00	30,000.00
27	рс	GIGABIT SWITCH, DGS-1024C 24-port gigabit ethernet unmanaged switch, 24x Gigabit Ethernet Ports, Small lightweight, rackmount able and ideal for any business with big needs and a small budget. Rackmount kit supplied. D-link green power saving features	5	5,100.00	25,500.00
		Sub-Total			15,595,400.00

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Presider

Authorized Official

Conforme:

XYMBOLIC IT SOLUTION PROVIDER CORPORATION

(Signature over printed name & date)

Bank Account Name:

Xymbolic IT solution Provider 0014- 2000 - 3840

Bank Account Number: Bank Name:

Union bonk

Bank Address: Noic Branch -

AB manila are corner, bever are Caral Rd. SBFZ.

Funds Available:

No.: TSU-PRO-SF-09

ELENA MAY T. TEOFILO HEAD, Budget Office

Revision No. 03

ALOBS No.: 06 -10(101-21-02-000)

Amount:

\$ 17,571,100.



DELIVERY DUE DATE:

Tel. No.: 045-606-8142/606-8157

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

Type of Business: Merchandising TIN No.: 739-829-004-000

Tel. No.: (047) 222-8707

PR No.:

2020-10-205

PO No.: Date:

2021-047 2/3/2021

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:		TARLAC STATE UNIVERSITY		Гегт:	30 Calendar Days	
	very:		Payment	Term:	N/30	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost	
28	рс	Balance Forwarded 1U ETHERNET RACKMOUNT ROUTER, Mikrotik RB1100AHX4 router board 1100AHx2 dude edition with Annapurna Alpine, AL21400 Cortex A15 CPU (4 cores, 1.4GHz per core) 1gb RAM, 13x	3	34,400.00	15,595,400.00 103,200.00	
29	рс	Gbit LAN 60GB M.2 drive router OS L6 DUAL-BAND ROUTER, Wireless, Linksys EA7500 Max-Stream AC1900 MU-MIMO Gigabit WiFi Router	24	7,900.00	189,600.00	
30	рс	GIGABIT WIFI ROUTER, MU-MIMO, Dlink DIR-895L, Wireless AC5300 triband gigabit cloud router triband wireless AC5300 technology. Dedicated gigabit WAN port, 4x Gigabit LAN Ports. USB 3.0 and USB 2.0 Ports for Storage, File Sharing or Printing. Advanced Quality of Service (QoS). VPN Server. Enhanced SmartConnect Feature prevents older devices from affecting optimal performance. Advanced AC SmartBeam for optimised Wi-Fi coverage. mydlink apps helps you access, manage and view your network remotely	4	14,400.00	57,600.00	
31	рс	ACCESS POINT, Wireless, Indoor/Outdoor, Ubiquiti UniFI Access Point, AC PRO-UAP-AC-PRO	8	9,500.00	76,000.00	
32	package	GIGABIT SWITCH, With SFP, 16-port Managed POE+, Ubiquiti US-16-150W with 2pcs sfp module	3	56,300.00	168,900.00	
33	set	IP PHONE, Mitel IP Phone, IP420, with license bundle, Essential Onsite	6	35,000.00	210,000.00	
34	set	NETWORK ATTACHED STORAGE, with 10TB Hard Disk Drive, Synology DS220+, is a 2-bay desktop NAS designed for fast data sharing and management. It newly features dual 1GbE LAN ports to support network failover, and with Link Aggregation enabled, DS220+ provides over 225MB/s sequential read and 192MB/s sequential write1 throughput. Data can be further protected with RAID 1 disk mirroring to prevent sudden drive failure, Seagate ST6000VN0041 6TB IronWolf 7200RPM 3.5 HAR (2X)	1	51,200.00	51,200.00	
35	рс	MANAGED AGGREGATION SWITCH, 10G 16-Port, Ubiquiti UniFi Switch US-16-XG	1	37,500.00	37,500.00	
36	рс	MEDIA CONVERTER GIGABIT SWITCH, with SFP Port, UTEPO UOF7201GE, Industrial Gigabit Ethernet Converter	1	6,200.00	6,200.00	
37	roll	UTP CABLE, Panduit Copper Cable, CAT 6, 4-pair, 24 AWG, UTP, CM, Blue, 1000ft/305m	25	7,100.00	177,500.00	
		Sub-Total			16,673,100.00	

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

XYMBOLIC IT SOLUTION PROVIDER CORPORATION

(Signature over printed name & date)

Bank Account Name:

Xymbolic IT solution provider corporation

Bank Account Number: ODIU - 2000 - 3840

Bank Name:

Union bank

AY T. TEOFILO

Bank Address: Subt branch - Lot MB Manila ave. comer, Devey dove. Canal Rd.

Funds Available:

ALOBS No.:

06-101101-21-02-000)

Amount:

\$ 17,571, 160.

No.: TSU-PRO-SF-09

HEAD, Budget Office

Effectivity Date: August 24, 2020



Tel. No.: 045-606-8142/606-8157

Supplier: XYMBOLIC IT SOLUTION PROVIDER CORPORATION

Address: 16 Mt. Apo 1st Street, East Tapinac, Olongapo City

Type of Business: Merchandising TIN No.: 739-829-004-000

Tel. No.: (047) 222-8707 **DELIVERY DUE DATE:**

PR No.:

2020-10-205

PO No.:

2021-047

Date: Mode of Procurement: 2/3/2021 Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Date of Delivery:		TARLAC STATE UNIVERSITY		Term:	30 Calendar Days	
Item No.	Unit	Description	Payment Quantity	Unit Cost	N/30 Total Cost	
38	roll	Balance Forwarded UTP CABLE, CommScope CAT 6 4-pair Outdoor cable, 23AWG, PE Jacket, Black	2	14,700.00	16,673,100.00 29,400.00	
39	roll	UTP CABLE, Belden DataTwist Industrial Cable, Category-6 4 twisted pairs outdoor FTP, 23AWG Solid Bare Copper Conductors, Overall Beldfoil Shield, 24AWG Stranded tinned copper drain wire, Polyolefin Insulation, Sunlight and UV Resistant Black PVC Jacket	1	22,100.00	22,100.00	
40	рс	RJ45 - CAT6, Non Modular	4000	50.00	200,000,00	
41	roll	FIBER OPTIC CABLE, FiberCore Fiber optic cable single mode, 2 core, Outdoor	1	24,500.00	200,000.00 24,500.00	
42	рс	COUPLER SC-APC ADAPTER CONNECTOR, FiberCore	1000	200.00	200,000,00	
43	рс	1:16 SPLITTER WATER-PROOF BOX, FiberCore	20	5,900.00	200,000.00	
44	рс	PROTECTIVE BOX CASE, for Optical Fiber, FiberCore	20	200.00	118,000.00	
45	рс	FIBER OPTIC SC APC FTTH FAST CONNECTOR, FiberCore	1000	300.00	4,000.00	
		· 李宗李宗宗李宗宗李宗宗李宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗宗			17,571,100.00	

(Total Amount in Words) Seventeen Million Five Hundred Seventy One Thousand One Hundred Pesos Only

Waranty Shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

OMMISSION ON AUDIT 1

Conforme:

XYMBOLIC IT SOLUTION PROVIDER CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

MAY T. TEOFILO

Bank Name: Bank Address: Subic

Lot 1913 Manila ave. comer,

Canal Rd. SBEZ

ALOBS No.: 96 - 191101 - 21-02 -001

\$ 17,571,100.

HEAD, Budget Office

Effectivity Date: August 24, 2020

No.: TSU-PRO-SF-09

Funds Available: